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this knob to the right you can ________ the sound from the radio. 

（05/1）A） intensifyB） amplifyC） enlargeD） reinforce2. I

found it difficult to _____ my career ambitions with the need to

bring up my children. （03/6）A） consolidateB） amendC）

reconcileD） Intensify3. The music aroused an _______ feeling of

homesickness in him. （02/12）A） intentionalB） intermittentC

） intenseD） intrinsic4. His successful negotiations with the

Americans helped him to _________ his position in he government.

（02/1）A） contriveB） consolidateC） heaveD） intensify5.

The presidential candidate ______ his position by winning several

primary elections. （99/6）A） enforcedB） enrichedC）

intensifiedD） consolidated6. Competition, they believe,

__________ the national character than corrupt it. （97/1）A）

enforcesB） confirmsC） intensifiesD） strengthens7. Of the

thousands of known volcanoes in the world, the _______ majority

are inactive. （97/1）A） tremendousB） demandingC）

intensiveD） overwhelmingBarren（3次）1. He tried to hide ___

his patch by sweeping his hair over to one side. （04/6）A）

barrenB） bareC） baldD） bleak2. Within ten years they have

tamed the ____hill into green woods. （03/9）A） vacantB）

barrenC） weirdD） wasteful3. Many people think of deserts as

______ regions, but numerous species of plants andanimals have



adapted to life there. （99/6）A） virginB） barrenC） voidD）

wretchedBlunder（3次）1. Many pure metals have little use because

they are too soft, rust too easily, or have some other _______. 

（02/1）A） drawbacksB） handicapsC） bruisesD） blunders2.

Small farms and the lack of modern technology have ______

agricultural production.（01/1）A） blunderedB） tangledC）

bewilderedD） hampered3. I think that I committed a _______ in

asking her because she seemed very upset by my question. （99/1

）A） blunderB） revengeC） reproachD） scandalCommence

（2次）1. The Space Age ______ in October 1957 when the first

artificial satellite was launched by the Soviet Union. （99/1）A）

initiatedB） originatedC） embarkedD） commenced2. To ____

for his unpleasant experiences he drank a little more than was good

for him. （98/1）A） commenceB） compromiseC）

compensateD） complimentCommission（2次）1. By signing the

lease we made a _______ to pay a rent of $ 150 a week. （99/6）A

） conceptionB） commissionC） commitmentD）

confinement2. The insurance company paid him $10, 000 in

_______ after his accident. （97/6）A） compensationB）

installmentC） substitutionD） commission 100Test 下载频道开
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